

On the Central Limit Theorems for Forward and Backward Martingales

Yilun Shang

Abstract—Let $\{X_i\}_{i \geq 1}$ be a martingale difference sequence with $X_i = S_i - S_{i-1}$. Under some regularity conditions, we show that $(X_1^2 + \dots + X_N^2)^{-1/2} S_N$ is asymptotically normal, where $\{N_i\}_{i \geq 1}$ is a sequence of positive integer-valued random variables tending to infinity. In a similar manner, a backward (or reverse) martingale central limit theorem with random indices is provided.

Keywords—central limit theorem, martingale difference sequence, backward martingale.

I. INTRODUCTION

FORWARD and backward martingale limit theory has very useful unifying properties in the sense that many specific limit theorems follow as special cases of martingale's. The classical form of the forward martingale central limit theorem, as presented by Brown [7] and amplified by Dvoretzky [8], Scott [21] and McLeish [17], closely resembles the theorem of Lindeberg and Feller [3], [4]. Analogous backward martingale (also known as reverse martingale) central limit theorems are presented by Loynes [14].

Let $n \geq 1$ be a fixed integer. Consider a finite sequence $\{X_1, \dots, X_n\}$ of martingale difference random variables (i.e., X_i is \mathcal{F}_i -measurable and $E(X_i|\mathcal{F}_{i-1}) = 0$ a.s., where $\{\mathcal{F}_i\}_{0 \leq i \leq n}$ is an increasing filtration and \mathcal{F}_0 is the trivial σ -algebra). Let $S_n = X_1 + X_2 + \dots + X_n$ and $v_n^2 = \sum_{i=1}^n E(X_i^2)$. The central limit theorem established by Brown [7] and Dvoretzky [8] states that under some Lindeberg-type condition,

$$\Delta_n = \sup_{x \in \mathbb{R}} \left| P \left(\frac{S_n}{v_n} < x \right) - \Phi(x) \right| \rightarrow 0 \quad (1)$$

as $n \rightarrow \infty$, where $\Phi(x) = (1/\sqrt{2\pi}) \int_{-\infty}^x e^{-u^2/2} du$ is the standard normal distribution function. More recent studies on martingale central limit theorems and their convergence rates can be found in e.g. [13], [15], [16], [18]. We refer the reader to books [10] and [6] for more about martingale central limit theorems.

A classical (forward) martingale central limit theorem with random norming is the following. See [10] for a proof.

Theorem 1. Let $\{S_i\}_{i \geq 0}$ be a zero-mean martingale sequence relative to $\{\mathcal{F}_i\}_{i \geq 0}$. Let $c_i = \sqrt{\text{Var}(S_i)} < \infty$, $X_i = S_i - S_{i-1}$ and $S_0 = 0$. Suppose

- (i) $\frac{\max_{1 \leq i \leq c} X_i}{c} \xrightarrow{P} 0$ (in probability),
- (ii) There exists a real-valued random variable η such that $\frac{\sum_{i=1}^c X_i^2}{c^2} \xrightarrow{P} \eta$.

Y. Shang is with the Department of Mathematics, Shanghai Jiao Tong University, Shanghai 200240, China e-mail: shylmath@hotmail.com

If $P(\eta = 0) = 0$, then

$$\frac{S_n}{\sqrt{\sum_{i=1}^{N_n} X_i^2}} \xrightarrow{L} N(0, 1) \quad (2)$$

as $n \rightarrow \infty$, where " $\xrightarrow{L} N(0, 1)$ " denotes convergence in distribution to standard normal distribution.

The following is an analogous backward martingale central limit theorem. Also see [10] for a proof.

Theorem 2. Let $\{S_i\}_{i \geq 0}$ be a zero-mean backward martingale sequence relative to a sequence of decreasing σ -fields $\{\mathcal{G}_i\}_{i \geq 0}$, and let $s_i^2 = E(X_i^2|\mathcal{G}_{i+1})$, where $X_i = S_i - S_{i-1}$. Suppose

- (i) $\frac{\sum_{i=1}^{\infty} s_i^2}{E(\sum_{i=1}^{\infty} s_i^2)} \xrightarrow{a.s.} 1$ (almost surely),
- (ii) $\frac{\sum_{i=1}^{\infty} X_i^2}{\sum_{i=1}^{\infty} s_i^2} \xrightarrow{a.s.} 1$.
- (iii) There exists a real-valued random variable η such that $\frac{\sum_{i=1}^{\infty} X_i^2}{n} \xrightarrow{P} \eta$.

If $P(\eta = 0) = 0$, then

$$\frac{S_n}{\sqrt{E(\sum_{i=n}^{\infty} s_i^2)}} \xrightarrow{L} N(0, 1) \quad (3)$$

as $n \rightarrow \infty$.

In this paper, we want to generalize Theorem 1 and 2 to cover the random indices. In other words, we investigate the sum of a random number of forward (and backward) martingale difference sequence $\{X_i\}$. This question is important not only in probability theory itself but in sequential analysis, random walk problems, Monte Carlo methods, etc. Central limit problems for the sum of a random number of independent random variables have been addressed in the pioneer work of Anscombe [2], Rényi [20] and Blum et. al. [5]. More recent study can be found in e.g. [9], [11], [12], [19], most of which, nevertheless, deals with simple independent cases.

The rest of the paper is organized as follows. In Section 2, we present our forward and backward martingale central limit theorems and in Section 3, we give the proofs.

II. MAIN RESULTS

The following is our martingale central limit theorem with random indices.

Theorem 3. Let $\{S_i\}_{i \geq 0}$ be a zero-mean martingale sequence relative to $\{\mathcal{F}_i\}_{i \geq 0}$. Let $c_i = \sqrt{\text{Var}(S_i)} < \infty$, $X_i = S_i - S_{i-1}$ and $S_0 = 0$. Denote by $\{N_n\}_{n \geq 1}$ a sequence of positive integer-valued random variables such that

$$\frac{N_n}{\omega_n} \xrightarrow{P} \omega \quad (4)$$

as $n \rightarrow \infty$, where $\{\omega_n\}_{n \geq 1}$ is an arbitrary positive sequence tending to $+\infty$ and ω is a positive constant. Suppose

- (i) $\frac{\max_{1 \leq c \leq X} P}{c} \rightarrow 0$,
- (ii) There exists a real-valued random variable η such that $\frac{\sum_{i=1}^n X^2}{c^2} \xrightarrow{P} \eta$,
- (iii) There exists some $k_0 \geq 0$ and $c > 0$ such that, for any $\lambda > 0$ and $n > k_0$, we have

$$P\left(\max_{k_0 < k_1 \leq k_2 \leq n} |S_{k_2} - S_{k_1}| \geq \lambda\right) \leq \frac{c \cdot E(S_n - S_{k_0})^2}{\lambda^2}, \quad (5)$$

- (iv) $Cov(X_i, X_j) \geq 0$ for all i and j ,
- (v) There exists some $k_1 > 0$ and $\alpha > 0$ such that, for any $n > k_1$, we have

$$\left(\sum_{i \geq n} c_i\right)^2 \leq \alpha c_n^2. \quad (6)$$

If $P(\eta = 0) = 0$, then

$$\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} \xrightarrow{L} N(0, 1) \quad (7)$$

as $n \rightarrow \infty$.

We give some remarks here. Firstly, note that the assumption (iii) is for sufficiently large index of martingale difference sequence X_i , i.e., $\{X_i\}_{i > k_0}$. Secondly, if $\{X_i\}_{i \geq 1}$ is independent, then (iv) automatically holds for $k_0 = 0$ and $c = 1$ by using the Kolmogorov inequality or Doob martingale inequality (see e.g. [4]). Therefore, the assumption (iii) may be regarded as a “relaxed” Kolmogorov inequality. Thirdly, the assumption (iv) says that each pair X_s, X_t of $\{X_i\}_{i \geq 1}$ are positively correlated. In view of the independent case [5], it seems likely that the assertion of Theorem 3 still holds when ω is a positive random variable.

Our backward martingale central limit theorem reads as follows. Similar remarks as above may apply.

Theorem 4. Let $\{S_i\}_{i \geq 0}$ be a zero-mean backward martingale sequence relative to a sequence of decreasing σ -fields $\{\mathcal{G}_i\}_{i \geq 0}$, and let $s_i^2 = E(X_i^2 | \mathcal{G}_{i+1})$, where $X_i = S_i - S_{i-1}$. Denote by $\{N_n\}_{n \geq 1}$ a sequence of positive integer-valued random variables such that

$$\frac{N_n}{\omega_n} \xrightarrow{P} \omega \quad (8)$$

as $n \rightarrow \infty$, where $\{\omega_n\}_{n \geq 1}$ is an arbitrary positive sequence tending to $+\infty$ and ω is a positive constant. Suppose

- (i) $\frac{\sum_{i=1}^{\infty} s_i^2}{E(\sum_{i=1}^{\infty} s_i^2)} \xrightarrow{a.s.} 1$,
- (ii) $\frac{\sum_{i=1}^{\infty} X^2}{\sum_{i=1}^{\infty} s^2} \xrightarrow{a.s.} 1$,
- (iii) There exists a real-valued random variable η such that $\frac{\sum_{i=1}^n X^2}{\sum_{i=1}^n s^2} \xrightarrow{P} \eta$,
- (iv) There exists some $k_0 \geq 0$ and $c > 0$ such that, for any $\lambda > 0$ and $n > k_0$, we have

$$P\left(\max_{k_0 < k_1 \leq k_2 \leq n} |S_{k_2} - S_{k_1}| \geq \lambda\right) \leq \frac{c \cdot E(\sum_{i=k_0+1}^n X_i^2)}{\lambda^2}, \quad (9)$$

- (v) $Cov(X_i, X_j) \geq 0$ for all i and j .

Then

$$\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} \xrightarrow{L} N(0, 1) \quad (10)$$

as $n \rightarrow \infty$.

III. PROOFS

In this section, we provide the proofs of Theorem 3 and Theorem 4, which are similar in spirit.

Proof of Theorem 3. Let $0 < \varepsilon < 1/2$. From (4) it follows that there exists some n_0 , for any $n \geq n_0$,

$$P(|N_n - \omega \omega_n| > \varepsilon \omega_n) \leq \varepsilon. \quad (11)$$

For any $x \in \mathbb{R}$, we obtain

$$P\left(\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} < x\right) = \sum_{n=1}^{\infty} P\left(\frac{S_n}{\sqrt{\sum_{i=1}^n X_i^2}} < x, N_n = n\right). \quad (12)$$

By (11) and (12), we obtain for $n \geq n_0$,

$$\left|P\left(\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} < x\right) - \sum_{|n - \omega \omega_n| \leq \varepsilon \omega_n} P\left(\frac{S_n}{\sqrt{\sum_{i=1}^n X_i^2}} < x, N_n = n\right)\right| \leq \varepsilon. \quad (13)$$

Let $n_1 = [\omega(1 - \varepsilon)\omega_n]$ and $n_2 = [\omega(1 + \varepsilon)\omega_n]$. Since ω_n tends to infinity, we have $n_1 \geq k_0$ for large enough n . Note that $S_{n_1} + \sum_{n_1 < k \leq n} X_k = S_n$. Then we have for $|n - \omega \omega_n| \leq \varepsilon \omega \omega_n$,

$$P\left(\frac{S_n}{\sqrt{\sum_{i=1}^n X_i^2}} < x, N_n = n\right) \leq P\left(S_{n_1} < x \sqrt{\sum_{i=1}^{n_2} X_i^2} + Y, N_n = n\right), \quad (14)$$

where

$$Y = \max_{n_1 < n \leq n_2} \left| \sum_{n_1 < k \leq n} X_k \right|. \quad (15)$$

Likewise, we have

$$P\left(\frac{S_n}{\sqrt{\sum_{i=1}^n X_i^2}} < x, N_n = n\right) \geq P\left(S_{n_1} < x \sqrt{\sum_{i=1}^{n_1} X_i^2} - Y, N_n = n\right), \quad (16)$$

Involving the assumptions (i)-(iii), (iv) and (15), we obtain for large enough n ,

$$P\left(Y \geq \varepsilon^{\frac{1}{3}} \sqrt{\sum_{i=1}^{n_1} X_i^2}\right) \leq \frac{cE(\sum_{i=n_1+1}^{n_2} X_i^2)}{\varepsilon^{\frac{2}{3}} \sum_{i=1}^{n_1} X_i^2} \leq \frac{5c\alpha\varepsilon^{\frac{1}{3}}}{\eta}, \quad (17)$$

the right-hand side of which is less than 1 when ε is small enough. Note that $\eta \neq 0$ by assumption, which justifies the expression (17).

Denote by E the event that $Y < \varepsilon^{1/3} \sqrt{\sum_{i=1}^{n_1} X_i^2}$. By virtue of (13), (14), (17) and assumption (ii), we get

$$\begin{aligned} &P\left(\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} < x\right) \\ &\leq P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x\sqrt{\frac{\sum_{i=1}^{n_2} X_i^2}{\sum_{i=1}^{n_1} X_i^2}} + \varepsilon^{\frac{1}{3}}, E\right) \\ &\quad + \frac{5c\alpha\varepsilon^{\frac{1}{3}}}{\eta} + \varepsilon \\ &\leq P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x(1 + \varepsilon)\frac{c_{n_2}}{c_{n_1}} + \varepsilon^{\frac{1}{3}}\right) \\ &\quad + \left(\frac{5c\alpha}{\eta} + 1\right)\varepsilon^{\frac{1}{3}}. \end{aligned} \quad (18)$$

Similarly, from (13), (16) and (17) it follows that

$$\begin{aligned} &P\left(\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} < x\right) \\ &\geq P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x - \varepsilon^{\frac{1}{3}}, E\right) - \varepsilon. \end{aligned} \quad (19)$$

Using (19), (17) and the assumption (iv), we may derive

$$\begin{aligned} P\left(\frac{S_N}{\sqrt{\sum_{i=1}^N X_i^2}} < x\right) &\geq P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x - \varepsilon^{\frac{1}{3}}\right) \\ &\quad \cdot P(E) - \varepsilon \\ &\geq \left(1 - \frac{5c\alpha\varepsilon^{\frac{1}{3}}}{\eta}\right) \\ &\quad \cdot P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x - \varepsilon^{\frac{1}{3}}\right) \\ &\quad - \varepsilon, \end{aligned} \quad (20)$$

where the first inequality is due to an application of the FKG inequality (see e.g. [1]).

Now by Theorem 1 we obtain

$$\lim_{n_1 \rightarrow \infty} P\left(\frac{S_{n_1}}{\sqrt{\sum_{i=1}^{n_1} X_i^2}} < x\right) = \Phi(x), \quad (21)$$

where $\Phi(x)$ is the standard normal distribution function as defined above. Combining (18), (20) and (21), we then ends the proof of Theorem 3. \square

Proof of Theorem 4. Let $0 < \varepsilon < 1/2$. From (8) it follows that there exists some n_0 , for any $n \geq n_0$,

$$P(|N_n - \omega\omega_n| > \varepsilon\omega\omega_n) \leq \varepsilon. \quad (22)$$

For any $x \in \mathbb{R}$, we obtain

$$\begin{aligned} &P\left(\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} < x\right) \\ &= \sum_{n=1}^{\infty} P\left(\frac{S_n}{\sqrt{E(\sum_{i=n}^{\infty} s_i^2)}} < x, N_n = n\right). \end{aligned} \quad (23)$$

By (22) and (23), we obtain for $n \geq n_0$,

$$\begin{aligned} &\left|P\left(\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} < x\right) - \sum_{|n-\omega\omega_n| \leq \varepsilon\omega\omega_n} P\left(\frac{S_n}{\sqrt{E(\sum_{i=n}^{\infty} s_i^2)}} < x, N_n = n\right)\right| \\ &\leq \varepsilon. \end{aligned} \quad (24)$$

Let $n_1 = [\omega(1 - \varepsilon)\omega_n]$ and $n_2 = [\omega(1 + \varepsilon)\omega_n]$. Since ω_n tends to infinity, we have $n_1 \geq k_0$ for large enough n . Note that $S_{n_1} + \sum_{n_1 < k \leq n} X_k = S_n$. Then we have for $|n - \omega\omega_n| \leq \varepsilon\omega\omega_n$,

$$\begin{aligned} &P\left(\frac{S_n}{\sqrt{E(\sum_{i=n}^{\infty} s_i^2)}} < x, N_n = n\right) \\ &\leq P\left(S_{n_1} < x\sqrt{E\left(\sum_{i=n_1}^{\infty} s_i^2\right)} + Y, N_n = n\right), \end{aligned} \quad (25)$$

where

$$Y = \max_{n_1 < n \leq n_2} \left| \sum_{n_1 < k \leq n} X_k \right|. \quad (26)$$

Likewise, we have

$$\begin{aligned} &P\left(\frac{S_n}{\sqrt{E(\sum_{i=n}^{\infty} s_i^2)}} < x, N_n = n\right) \\ &\geq P\left(S_{n_1} < x\sqrt{E\left(\sum_{i=n_2}^{\infty} s_i^2\right)} - Y, N_n = n\right), \end{aligned} \quad (27)$$

Involving the assumptions (i)-(iv) and (26), we obtain for large enough n ,

$$\begin{aligned} P\left(Y \geq \varepsilon^{\frac{1}{3}} \sqrt{E\left(\sum_{i=n_2}^{\infty} s_i^2\right)}\right) &\leq \frac{cE(\sum_{i=n_1+1}^{n_2} X_i^2)}{\varepsilon^{\frac{2}{3}} E(\sum_{i=n_2}^{\infty} s_i^2)} \\ &\leq 5c\varepsilon^{\frac{1}{3}}, \end{aligned} \quad (28)$$

the right-hand side of which is less than 1 when ε is small enough.

Denote by E the event that $Y < \varepsilon^{1/3} \sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}$. By virtue of (24), (25), (28), and assumption (i)-(iii), we get

$$\begin{aligned}
 & P \left(\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} < x \right) \\
 & \leq P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}} < x \sqrt{\frac{E(\sum_{i=n_1}^{\infty} s_i^2)}{E(\sum_{i=n_2}^{\infty} s_i^2)}} + \varepsilon^{\frac{1}{3}}, E \right) \\
 & \quad + 5c\varepsilon^{\frac{1}{3}} + \varepsilon \\
 & \leq P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}} < x \sqrt{\frac{1+2\varepsilon}{1-2\varepsilon}} + \varepsilon^{\frac{1}{3}} \right) \\
 & \quad + (5c+1)\varepsilon^{\frac{1}{3}}. \tag{29}
 \end{aligned}$$

Similarly, from (24), (27) and (28) it follows that

$$\begin{aligned}
 & P \left(\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} < x \right) \\
 & \geq P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}} < x - \varepsilon^{\frac{1}{3}}, E \right) - \varepsilon. \tag{30}
 \end{aligned}$$

Using (30), (28) and the assumption (v), we may derive

$$\begin{aligned}
 & P \left(\frac{S_N}{\sqrt{E(\sum_{i=N}^{\infty} s_i^2)}} < x \right) \\
 & \geq P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}} < x - \varepsilon^{\frac{1}{3}} \right) \cdot P(E) - \varepsilon \\
 & \geq (1 - 5c\varepsilon^{\frac{1}{3}}) \cdot P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_2}^{\infty} s_i^2)}} < x - \varepsilon^{\frac{1}{3}} \right) \\
 & \quad - \varepsilon, \tag{31}
 \end{aligned}$$

where the first inequality is due to an application of the FKG inequality.

Now by Theorem 2 we obtain

$$\lim_{n_1 \rightarrow \infty} P \left(\frac{S_{n_1}}{\sqrt{E(\sum_{i=n_1}^{\infty} s_i^2)}} < x \right) = \Phi(x), \tag{32}$$

where $\Phi(x)$ is the standard normal distribution function as defined above. Combining (29), (31) and (32), we then concludes the proof of Theorem 4. \square

ACKNOWLEDGMENT

The author would like to thank the referees for their helpful comments.

REFERENCES

[1] N. Alon and J. H. Spencer, *The Probabilistic Method*. Wiley-Interscience, 2008.
 [2] F. J. Anscombe, Large-sample theory of sequential estimation. *Proc. Cambridge Philos. Soc.*, 48(1952) 600-607.

[3] S. Bernstein, Quelques remarques sur le theoreme limite Liapounoff. *Dokl. Akad. Nauk. SSSR*, 24(1939) 3-8.
 [4] P. Billingsley, *Probability and Measure*. Wiley-Interscience, 1995.
 [5] J. R. Blum, D. L. Hanson and J. I. Rosenblatt, On the central limit theorem for the sum of a random number of independent random variables. *Probability Theory and Related Fields*, 1(1963) 389-393.
 [6] I. V. Borovskikh, V. S. Korolyuk and Y. V. Borovskikh, *Martingale Approximation*. Brill Academic Publishers, 1997.
 [7] B. M. Brown, Martingale central limit theorems. *Annals of Mathematical Statistics*, 42(1971) 59-66.
 [8] A. Dvoretzky, Asymptotic normality for sums of dependent random variables. *Proc. 6th Berkeley Symp. Math. Statist. Probab.*, 2(1970) 513-535.
 [9] I. Fakhre-Zakeri and J. Farshidi, A central limit theorem with random indices for stationary linear processes. *Statistics & Probability Letters*, 17(1993) 91-95.
 [10] P. Hall and C. Heyde, *Martingale Limit Theory and Its Application*. Academic Press, New York, 1980.
 [11] T. L. Hung and T. T. Thanh, Some results on asymptotic behaviors of random sums of independent identically distributed random variables. *Commun. Korean Math. Soc.*, 25(2010) 119-128.
 [12] V. Y. Korolev, The asymptotics of randomly indexed random sequences: independent indices. *Journal of Mathematical Sciences*, 59(1992) 926-938.
 [13] K. S. Kubacki, On the convergence of moments in a martingale central limit theorem. *Theor. Prob. Appl.*, 40(1995) 373-386.
 [14] R. M. Loynes, The central limit theorem for backwards martingales. *Probability Theory and Related Fields*, 13(1969) 1-8.
 [15] M. El Machkouri and L. Ouchti, Exact convergence rates in the central limit theorem for a class of martingales. *Bernoulli*, 13(2007) 981-999.
 [16] M. El Machkouri and D. Volny, On the local and central limit theorems for martingale difference sequences. *Stochastics and Dynamics*, 4(2004) 1-21.
 [17] D. L. McLeish, Dependent central limit theorems and invariance principles. *Ann. Probability*, 2(1974) 620-628.
 [18] L. Ouchti, On the rate of convergence in the central limit theorem for martingale difference sequences. *Ann. Inst. H. Poincaré Probab. Statist.*, 41(2005) 35-43.
 [19] M. Przystalski, Asymptotics for products of a random number of partial sums. *Bull. Polish Acad. Sci. Math.*, 57(2009) 163-167.
 [20] A. Rényi, On the asymptotic distribution of the sum of a random number of independent random variables. *Acta. Math. Acad. Sci. Hung.*, 8(1957) 193-199.
 [21] D. J. Scott, Central limit theorems for martingales and for processes with stationary increments using a Skorokhod representation approach. *Advances in Appl. Probability*, 5(1973) 119-137.